
War Game Two
Canada

Exploring North!



1-73. Which is 
marked with a “1” on
the map?
A. Hudson Bay
B. Pacific Ocean
C. Lake Superior
D. Atlantic Ocean

A. Hudson Bay



2-77. Which borders Canada?
A. Cuba
B. Mexico
C. Panama
D. United States

D. United States



 3-78. Which area is known for its rolling, 
rocky land covering eastern and central
Canada?
A. Lake Huron
B. Canadian Shield
C. Rocky Mountains
D. St. Lawrence River

B. Canadian Shield



 4-80. Which statement is true about 
where people in Canada live?
A. They mostly live in rural areas.
B. Most people live in the Toronto area.
C. They live north of Ontario and Quebec.
D. Most Canadians live within 100 miles of 
the U.S. border.

D. Most Canadians live within 100 
miles of the U.S. border.



 5-84. The humid continental climate that 
covers a large part of Canada helps the
country with which type of business?
A fishing
B. mining
C. farming
D. shipping

C. farming



 6-85. Which are important natural 
resources of Canada?
A. coal, oil, water
B. oil, timber, workers
C. fish, timber, railroads
D. highways, natural gas, wildlife

A. coal, oil, water



 7-90. Which geophysical area is most important to 
help businesses in central Canada move goods to 
countries in Europe?
A. the Canadian Shield
B. the Rocky Mountains
C. the ports on the Pacific Ocean
D. the Great Lakes and the St. Lawrence Seaway

D. The Great Lakes and the St. 
Lawrence Seaway



 8-91. Why is timber an important natural resource 
for export by Canadian businesses?
A. There are more trees available than the Canadians 
can use themselves.
B. There are fewer trees in Canadian forests than in 
most forests of the world.
C. Many countries in the world trade with Brazil to get 
the timber that they need.
D. Many countries in the Western Hemisphere trade 
only with Latin American countries.

A. There are more trees available than the 
Canadians can use themselves.



 9-97. Rain mixes with which substances to 
become acidic?
A. sulfur dioxide, oxygen, hydrogen
B. hydrogen, oxygen, carbon dioxide
C. water molecules, carbon dioxide, hydrogen
D. sulfur dioxide, carbon dioxide, nitrogen oxide
 

D. Sulfur dioxide, carbon dioxide, 
nitrogen oxide



 10-99. Canada has to work with the United States to 
solve the problem of acid rain because the United 
States
A. is the source of much of Canada’s air pollution.
B. purchases many of the goods that Canada produces in
its factories.
C. has reduced the amount of acid rain and understands 
how to solve the problem.
D. is careful to keep air pollution from leaving the United
States and entering Canada.

A. is the source of much of Canada’s air 
pollution.



 11-51.  100. Which statements are problems that result
from acid rain?
1. Fish in lakes die.
2. Forests begin to die.
3. Bicycle use increases.
4. Stone statues begin to lose their features.

A. 1, 2, 3
B. 2, 3, 4
C. 1, 2, 4
D. 1, 3, 4
 

C. 1,2,4



 12-105. The first Canadian-American plan to 
clean the Great Lakes was to reduce which 
chemical?
A. detergent
B. fertilizer
C. pesticide
D. phosphorus

D. phosphorus



 13-107. Which people are likely to be against 
the Great Lakes Water Quality
Treatment Agreement?
A. fishermen who catch fish in the lakes
B. homeowners who live along the lakes
C. factory owners in the area of the lakes
D. people who get their drinking water from the
lakes

C. Factory owners in the area of the 
lakes



 14-109. Which is a benefit of mining in 
Canada?
A. Valuable mining lands are located near cities.
B. Waterways are polluted in the process of 
mining.
C. Over 1.5 million people work in the mining 
industry.
D. Sulfur dioxide (SO2) is spewed into the air 
and lands in waterways.

C. Over 1.5 million people work in the 
mining industry.



15-110. Why is the Canadian Shield important 
to the economy of Canada?
A. It contains large, valuable mineral deposits.
B. Mining operations look for new deposits of 
minerals.
C. It is close to many of the large metropolitan 
areas of Canada.
D. There are many ways that the environment 
can be damaged by mining.

A. It contains large, valuable mineral 
deposits.



 16-111. Forests cover about how much land 
in Canada?
A. one-half
B. one-third
C. one-fourth
D. three-fourths

A. one-half



 17-112. Which is a problem related to 
clear-cutting?
A. Soil is turned up.
B. Erosion of soil stops.
C. Timber companies save money.
D. Wildlife loses large areas of habitat.

D. Wildlife loses large areas of 
habitat.



 18-166. Which issue would make Canada a 
more desirable place to start a business
than Brazil?
A. Starting a new business does not take very 
long.
B. Companies have freedom to decide what to 
produce.
C. Property rights are protected by strong laws 
and courts.
D. All of the above.

D. All of the above.



 19-276. The goal of the independence 
movement was for Quebec to
A. have its own monarch.
B. be an independent country.
C. become a part of France again.
D. make the rest of Canada become French-
speaking.
 

B. Be an independent country.



20- 277. Which is a way of protecting the 
language and culture of Quebec?
A. Businesses must be bilingual in Quebec.
B. French is the official language of Quebec.
C. The Canadian government prints laws only in 
French.
D. Quebec’s citizens have been ordered to learn 
English. 

B. French is the official language of 
Quebec.



 21-130. A parliamentary democracy is used in 
what country?
A. Brazil
B. Canada
C. Mexico
D. Venezuela

B. Canada



22-128.  Which is true of a parliamentary 
democracy?
A. The prime minister is head of state.
B. The president is the chief executive.
C. The prime minister is the chief executive.
D. The president is the head of the legislature.

C. The prime minister is the chief 
executive.



23-144.  What type of government exists in 
Canada?
A. Monarchy
B. Communist
C. Presidential democracy
D. Parliamentary democracy

D. Parliamentary democracy



24-145.  Which term describes how political 
power is distributed in Canada?
A. federal government
B. unitary government
C. aristocratic government
D. confederation government

A. federal government



25-146.  One way that Canada’s government is 
different from the U.S. government is that 
Canada
A. has a federal form of government.
B. allows citizens 18 years and older to vote.
C. elects leaders to make laws and run the 

government.
D. has a monarch – that is a king or queen – as 

head of state.

D.  has a monarch – that is a king or 
queen – as head of state.



26-147.  Which describes a right of the people in 
Canadian provinces in the federal system in 
Canada?
A. They can choose a new viceroy.
B. They can print their own money.
C. People can elect a new king or queen.
D. People can elect their representatives to 

provincial parliaments.

D.  People can elect their representatives
to provincial parliaments.



You did it….. exploration complete!!!


